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Exercise set (4.9):

Exercise 4.9 P.270-271:
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EXERCISE SET 4.9 [ Graphing utility  [€] cas

1-4 Express the integral in terms of the variable u«, but do not
evaluate it.
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3—12 Ewvaluate the definite integral two ways: first by a u-sub-
stitution in the definite integral and then by a w-substitution in
the corresponding indefinite integral.
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13—16 Evaluate the definite integral by expressing it in terms
of «u and evaluating the resulting integral using a formula from

geometry.
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21-34 Evaluate the integrals by any method.
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